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Answer ALL questions.

1 A student had a stack of 500 sheets of paper. He measured the dimensions shown.

X

(a) The student used a balance to determine the mass of the stack of paper. The reading
is shown below.

g [

(1) State the resolution of the balance.
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( )
(b) The student used vernier calipers to measure the thickness y of the stack of paper.
Explain one technique he should use to determine an accurate value for y.
(2)
(c) The student used the measurements from the stack of paper to determine the density
of the paper.
(i) Determine the density of the paper in gcm™
x =210mm
y=42.77mm
z=297mm
(2)
(i) Explain why making measurements on the whole stack of paper is better than
making measurements on a single sheet of paper.
(2)
(Total for Question 1 =9 marks)
L J
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A student investigated the efficiency of an electric motor, using the apparatus shown.

battery

(a) The motor was connected in a circuit including a battery and a switch.
The student connected additional components to determine the power of the motor.

Complete the circuit diagram for the circuit the student should use.

motor

(2)

o)
=N

"
o

¥

Fetalst
N
s

Iattel
Gl
S
oteloletels

.
ol

el
5
batels

A

i%

o
"

ot
0
Petats

£

B
N

2%
q’

4%
sTatetetety
A

-,
o
"
St

.
bgts!

£ e
S
ot

FAE S
£

e
&
byt

4

>
!
=
k<)
by,
Petats

o
‘. x
3¢
2!
b
ot

™

belate
)

P

A
LA
L)
T
S

o
BT 4%t
sl
S o

e
S
g

it
20
3
282
htetatt
plets!

byt
o<
&
btated
patels!

e
Q&ﬁp
s

N

0....

s

£ R
4
2535
it

55
£
Qf

4

i%

N
N

4

&

&
gt

Petatat

‘L
X
.

%ﬂp.
.
oy
&

el

byt
e
Pitatels!
FSetatoteteSetets!

0

.
::o
a

AR
B

5

S

£x
‘5
%
T

AN
e
NI

e A% I

ptanatetel
btatetets!

X
b, 30,

"
el

Q>
KR
e
&

i
2

b
S o o
RPN
o

5
<

T
A I,
S

250505

ilele!

2
420!
%

v,
G
plele!

&
1
£t
A
S

R
ﬁ&

"
o

Ty,
L AT

.
WA

ytetety!
25
bets!

Petatete!

%
e
05

i

S

e
.

&

o
.
S

7
£
o

'Q
oty

0
28
8
v,
belale

A
R,
lelelatl ¢ il
SV

»
petetaluteladel

W
batetetetele!
FooTeI eIt
stetatetel
E s

o
5
£
§%s
i

353

>
S
Setelatetede!

o

J

P 7 5 5 9 8 A 0 4 2 0

m | [

0
Pelalet
olele!
o
ot
botetel

o



www.gradesuk.com

o
0

o
o
i
o

A

s

0.6 :.
o

o
"
&

Fetalet
i
;s
..
s

o
ety
2
o
&

o
>

i%
2

>
"
o

Foted

S5
Q:::

N

2
e
i

L
"

&
38

.
o

R
20800008
SR
L
petetatetetede!
R

o,
%
%

o,

.

e

AN A
R
DR
AREA
b
patetelutetels!

B

P
%5mmf§

s
Ao
¥y ko
& I

i
LT,
S
ogheb
P98 et
oty el
S
it
S,
T Vi
(3
e
{5
-

AN
15 ¥
XNy ]

e R o o

e

N N

3

P
&
o
o
o
o
o

s
et ) Yo N

L
L
25055

T

L
ettty

e

R
A IHIE,
Rt

e
5
£
e
bt

y
y
bets!

S

>
T

-
el
%
5
s

!
&
%

o

( )

(b) The student closed the switch in the circuit, and the motor lifted the mass from
the floor.

She used a metre rule to measure the height gained by the 1kg mass in 10s.

(1) Describe how she should measure a single value of the height gained as
accurately as possible.

You should include the use of any additional apparatus needed.

(i) Explain why repeat measurements are appropriate for this measurement.
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(c) Explain how the measurements made by the student should be used to determine the
efficiency of the motor as it lifts the mass.

(Total for Question 2 = 11 marks)
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A student used a laser and screen to determine the diameter of a hair. The apparatus was
arranged as shown.

™ screen

laser \

single hair

(a) Identify a health and safety issue caused by using a laser and how this issue may be
dealt with.
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(b) The student placed the screen 2m from the hair.

He switched on the laser. A diffraction pattern was produced on the screen,
as shown.

(Source: © GIPHOTOSTOCK/SCIENCE PHOTO LIBRARY)
(1) The student used a metre rule to measure the distance between adjacent minima.

Describe how the student should determine an accurate value for the distance
between adjacent minima.

(i1) Explain how the student could modify the arrangement of the apparatus to
reduce the percentage uncertainty in this value.
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(c) The student repeated the procedure using three different lasers. Each laser produced
a different wavelength of light.

The student calculated the diameter d of the hair using each laser. He recorded the
values as shown.

d/ pm

Laser 1 76.0

Laser 2 84.4

Laser 3 77.1

(1) Determine the mean value of d.

. J
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(d) In a different experiment, the student applied force to stretch the hair. He determined
the average breaking stress for hair as 181 MPa with a percentage uncertainty of 6%.

The student suggested that the breaking stress for hair is the same as the breaking
stress for copper wire.

Deduce whether the suggestion is correct.

breaking stress for copper wire = 210 MPa

(2)

(Total for Question 3 = 12 marks)
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4 A student investigated the inverse square law for light, using the apparatus shown.

12V power filament
supply bulb

\

metre rule light meter

SENSor

The student used a metre rule to measure the distance d between the filament of the bulb
and the sensor on the light meter.

The reading on the light meter is the intensity / of the light.

(a) Explain how two sources of error can be reduced in this investigation.

(b) The relationship between 7 and d is given by

where k is a constant.

1
(1) Explain why a graph of / against 7 should be a straight line through the origin.

(2)

1
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results in the table as shown.

(i1) The student varied d and recorded corresponding values of /. She recorded the

d/ m

I/Wm™

0.125

996

0.175

510

0.250

276

0.375

109

0.500

48

0.750

18

1
(ii1) Plot a graph of / on the y-axis against —5

Complete the table with corresponding values of 7

Use the additional column to record your processed data.

ciZ

(iv) Determine the value of k from the graph.

on the x-axis on the grid opposite.
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(v) The student switched off the filament bulb. She recorded the intensity of the
background light as 4 Wm~.

The student then switched on the filament bulb. She moved the light meter to
change d, until the reading on the light meter was 8 Wm .

Determine the distance between the light meter and the filament bulb.

Distance = ...

(Total for Question 4 = 18 marks)
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